KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

Form ACO-1 September 1999 Form Must Be Typed

WELL COMPLETION FORM **WELL HISTORY - DESCRIPTION OF WELL & LEASE**

Operator: License # _ 33235 Name. Chieftain Oil Co., Inc.

City/State/Zip: Kiowa, KS 67070 Purchaser. West Wichita Gas

Address: 625 S. 10th

Signature:

Notary Public:

Subscribed and sworn to before me this

MOTARY PUBLIC

KRISTI L. MOLZ My Appt. Expires 11-32-6

	H
API No. 15 - 007-22812-00-00	
County: Barber	
S/2 - SW - NW - Sec. 27 Twp. 32 S. R.	10 East 7 West
2245 feet from S /(N) (circle	
730 feet from E / W (circl	
Footages Calculated from Nearest Outside Section	on Corner:
(circle one) NE SE NW	SW
Lease Name: Jo	Well #: 1
Field Name: McGuire-Goeman	
Producing Formation: Mississippi	
Elevation: Ground: 1426 Kelly Bushii	ng: 1439
Total Depth: 4867 Plug Back Total Depth: 48	
Amount of Surface Pipe Set and Cemented at 325	Feet
Multiple Stage Cementing Collar Used?	Yes ✓ No
	[].00 [1].10
If yes, show depth set	1111111
	Feet
If yes, show depth set	Feet
If yes, show depth set If Alternate II completion, cement circulated from_ feet depth to w/ Drilling Fluid Management Plan Art	Feet sx cmt.
If yes, show depth set If Alternate II completion, cement circulated from_ feet depth tow/ Drilling Fluid Management Plan I (Data must be collected from the Reserve Pit)	Feet sx cmt.
If yes, show depth set If Alternate II completion, cement circulated from_ feet depth to w/ Drilling Fluid Management Plan I (Data must be collected from the Reserve Pit)	sx cmt. TWHM
If yes, show depth set If Alternate II completion, cement circulated from feet depth to w/ Drilling Fluid Management Plan (Data must be collected from the Reserve Pit) Chloride content ppm Fluid volude.	sx cmt. TWHM
If yes, show depth set	sx cmt. TWHM
If yes, show depth set	sx cmt. TWHM wo v7 me_1200 bbls
If yes, show depth set	sx cmt. Twh to-07 me_1200 bbls
If yes, show depth set	sx cmt. TWHV O-UT me_1200 bbls bbls D. 6006 D. East ✓ West

KCC Office Use ONLY

RECEIVED

KCC WICH!

Letter of Confidentiality Received If Denied, Yes Date:_

Wireline Log Received **Geologist Report Received**

UIC Distribution

Operator Contact Person: Ron Molz Phone: (620) 825-4338 Contractor: Name: Duke Drilling Co., Inc. License: 5929 Wellsite Geologist: Arden Ratzlaff Designate Type of Completion: ✓ New WellRe-Entry Workover __ SWD __ ____ SIOW _____Temp, Abd. _ Gas __ ENHR ____ SIGW ____ Other (Core, WSW, Expl., Cathodic, etc) If Workover/Re-entry: Old Well Info as follows: Operator:_ Well Name: _____ Original Total Depth: ____ Original Comp. Date: _____ __ Deepening Re-perf. ____Conv. to Enhr./SWD Plug Back Total Depth _ Plug Back_ Commingled Docket No.-_ Dual Completion Docket No._ _ Other (SWD or Enhr.?) Docket No. -4-28-04 5-12-04 5-27-04 Spud Date or Date Reached TD Completion Date or Recompletion Date Recompletion Date INSTRUCTIONS: An original and two copies of this form shall be filed with the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, Kansas 67202, within 120 days of the spud date, recompletion, workover or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. Information of side two of this form will be held confidential for a period of 12 months if requested in writing and submitted with the form (see rule 82-3-107 for confidentiality in excess of 12 months). One copy of all wireline logs and geologist well report shall be attached with this form. ALL CEMENTING TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells. Submit CP-111 form with all temporarily abandoned wells. All requirements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are complete and correct to the hest of my knowledge.

Operator Name: Chieftain Oil Co., Inc.				Lease Name: Jo			Well #: 1				
Sec. 27 Twp. 32					ty: Barbe						
NSTRUCTIONS: Sho tested, time tool open temperature, fluid reco Electric Wireline Logs	and closed, flowing overy, and flow rates	and shut-i if gas to s	n pressures, v urface test, al	vhether s ong with	hut-in pre	ssure reached	static level, hydros	static pressure	es, botto	om hole	
Drill Stem Tests Taken (Attach Additional S		✓ Yes	s 🗌 No	40) <u>Handania - C Handa</u>	✓ Lo	og Formati	ion (Top), Depth ar	nd Datum		Sample	
Samples Sent to Geological Survey					Name	Э		Тор			
Cores Taken	s 🗸 No	Heebner				3435					
Electric Log Run		✓ Yes	s 🗌 No		Lans	ing		2207			
(Submit Copy)					Miss	issippi		3646 22 4365 29			
List All E. Logs Run:			,		Viola	l		4679		3240	
Gamma Ray, I Neutron & Den		•		al	Simp	oson		4758		3319	
		Report	CASING F		✓ Ne surface, inte	w Used rmediate, produc	ction, etc.	•			
Purpose of String	Size Hole Drilled		Casing (In O.D.)		eight . / Ft.	Setting Depth	Type of Cement	# Sacks Used		and Percent Additives	
Surface	10 3/4	8 5/8	·	24		325	Common	250	2%	Salt	
Production	.7 7/8	5 1/2	used	15.	.5	4866	Common _v	175	2%	Salt	
÷ , .	·	.~	. #								
A		,	ADDITIONAL	CEMENT	ING / SQL	EEZE RECORI	D				
Purpose:	Depth Top Bottom	Type of Cement #Sack			s Used		Type and Pe	Type and Percent Additives			
Perforate Protect Casing Plug Back TD Plug Off Zone			ŧ,	:							
Shots Per Foot) - Bridge Plug ach Interval Perl		е	Acid, Fracture, Shot, Cement Squeeze Record (Amount and Kind of Material Used) Depth					
4	4412 44					500 gal 7 1/2% 44					
4	4422 4430					500 gal 7	4422				
				1500			1500 bbls Gel Water with 61,000# sand				
											
	·			·				B.,			
TUBING RECORD	Size 2 7/8	Set At 4550		Packer	At	Liner Run	Yes No	ı			
Date of First, Resumerd 6/15/04	Production, SWD or E	nhr.	Producing Meth	nod	Flowing	Pump	ing Gas Lift	_ Oth	er (Explai	in)	
Estimated Production Per 24 Hours	Oil	Bbls.		Mcf	Wate			as-Oil Ratio		Gravity	
	<u> </u>	10	350 m	cf	100		<u></u>	35-1		22	
Disposition of Gas	METHOD OF C	OMPLETIOI		_	. — — -	Production Inte					
Vented ✓ Sold (If vented, Sub	Used on Lease		Open Hole Other (Speci	√ Pe fy)	rf. [_] [Jually Comp.	, Commingled		•		



SALES OFFICE:

100 S. Main Suite #607 Wichita KS 67202 (316) 262-3699 (316) 262-5799 FAX SALES & SERVICE OFFICE:

10244 NE Hiway 61 P.O. Box 8613 Pratt, KS 67124-8613 (620) 672-1201 (620) 672-5383 FAX

SALES & SERVICE OFFICE: 1700 S. Country Estates Rd. P.O. Box 129 Liberal, KS 67905-0129 (620) 624-2277

(620) 624-2280 FAX

Invoice

			voice					
Bill to:		1378500		e Invoid	ce Date	Order	Order Date	
	Chieftan Oil Company		8515	4/3	30/04	8515	4/29/04	
625 S. 10th				s	ervice Descri	ption	tion	
	Kiowa, KS 67070	-46	Cement					
					•			
				Lease		Well		
AF	E CustomerRep	Treater		Jo			1	
	- I - I - I - I - I - I - I - I - I - I		Well T	ype Pu	rchase Order	Те	rms'	
		Gordley	New Well	<u> </u>		Ne	t 30	
<u>ID.</u>	<u>Description</u>	<u>U</u>	<u>OM</u>	Quantity	Unit Price	Pri	ice	
D203	60/40 POZ (COMMON)	S	K	250	\$7.84	\$1,960.0		
C194	CELLFLAKE	L	В	63	\$2.00	\$126.0	0 (T)	
C310	CALCIUM CHLORIDE	L	BS	645	\$0.75	\$483.7	. ,	
F163	WOODEN CEMENT PLUG, 8	5/8" E	A	1	\$85.00	\$85.0	` '	
C228	SUGAR	Ll	в 🗓	50	\$3.50			
E100	HEAVY VEHICLE MILEAGE		•	45	\$3.25	\$146.2		
E101	CAR, PICKUP OR VAN MILE	AGE - 1 WAY M	I	45	\$2.00	\$90.0		
E104	PROPPANT / BULK DELIV S MILE, \$200 MIN	ERVICES/TON TI	M.	484	\$1.30	\$629.20		
E107	CEMENT SERVICE CHARGE	SI	ζ.	250	\$1.50	\$375.00)	
R701	CEMENT HEAD RENTAL	EA	A	1	\$250.00	\$250.00		
R201	CASING CEMENT PUMPER, HRS ON LOC.	301-500' 1ST 4 EA	A	1	\$704.00	\$704.00		

Sub Total:

\$5,024.20 \$1,407.01

Discount: Discount Sub Total:

\$3,617.19

Baber County & State Tax Rate: 6.30%

Taxes:

\$128.35

(T) Taxable Item

Total:

\$3,745.54

RECEIVED JAN 2 1 2005 KCC WICHITA

PLEASE REMIT TO Acid Services, LLC, Dept No 1131, Tulsa, OK 74182



SALES OFFICE: 100 S. Main Suite #607 Wichita KS 67202 (316) 262-3699 (316) 262-5799 FAX **SALES & SERVICE OFFICE:** 10244 NE Hiway 61 PO. Box 8613 Pratt, KS 67124-8613 [620] 672-1201 [620] 672-5383 FAX

SALES & SERVICE OFFICE: 1700 S. Country Estates Rd. PO. Box 129 Liberal, KS 67905-0129 (620) 624-2277 (620) 624-2280 FAX

Invoice

		uvoice	5				
Bill to:	13785	500 Int	voice Inv	oice Date	Order C	order Date	l
	Chieftan Oil Company	40:	5038	5/21/04	8482	5/12/04	
	625 S. 10th	C		Service Descr	iption		
	Kiowa, KS 67070	Cemer	nt	•			
			Lea		11/	ell	
			Jo			:::: 	
AFI	E CustomerRep Treater	We		Purchase Orde		ms	1
	R. Molz B. Drake	New V	Vell			: 30	•
<u>ID.</u>	Description	<u>UOM</u>	Quantity	Unit Price	Pri	ce	J 1
D205	AA2 (COMMON)	SK	200	\$13.19	\$2,638.00	(T)	
D203	60/40 POZ (COMMON)	SK	25	\$7.84	\$196.00	(T)	
C195	FLA-322	LB	151	\$7.50	\$1,132.50	(T)	
C221	SALT (Fine)	GAL	1053	\$0.25	\$263.25	5 (T)	
C243	DEFOAMER	LB	47	\$3.00	\$141.00	(T)	
C312	GAS BLOCK	LB	188	\$5.00	\$940.00	(T)	1
C321	GILSONITE	LB	997	\$0.60	\$598.20) (T)	
C302	MUD FLUSH	GAL	500	\$0.75	\$375.00	(T)	
C304	SUPER FLUSH II	GAL	500	\$1.85	\$925.00) (T)	i i i
C141	CC-1, KCL SUBSTITUTE	GAL	5	\$40.00	\$200.00) (T)	
F101	TURBOLIZER, 5 1/2"	EA	7	\$71.00	\$497.00) (T)	
F121	BASKET, 5 1/2"	EA	2	\$205.00	\$410.00	(T)	
F143	TOP RUBBER CEMENT PLUG, 5 1/2"	EA	1	\$70.00	\$70.00	(T)	
F191	GUIDE SHOE-REGULAR, 5 1/2"	EA	1	\$185.00	\$185.00	(T)	
F231	FLAPPER TYPE INSERT FLOAT VALVES, 5 1/2"	EA	1	\$165.00	\$165.00	` ,	0~"
E100	HEAVY VEHICLE MILEAGE - 1 WAY	MI	45	\$3.25	\$146.25	, אב	CEIVED
E107	CEMENT SERVICE CHARGE	SK	225	\$1.50	\$337.50) JAN	2 1 2005
E104	PROPPANT / BULK DELIV SERVICES/TON MILE, \$200 MIN	TM.	473	\$1.30	\$614.90		WICHIT
R210	CASING CEMENT PUMPER, 4501-5000' 1ST 4 HRS ON LOC	EA	1	\$1,827.00	\$1,827.00)	
R701	CEMENT HEAD RENTAL	EA	1	\$250.00	\$250.00		
E101	CAR, PICKUP OR VAN MILEAGE - 1 WAY	MI	45	\$2.00	\$90.00)	
				Sub Total:	\$12,001.60	ρ.	and the
	•					. 얼 첫	

Discount:

\$3,360.92